

## PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/9/2025 10:38:01 AM

				General De	etails				
Parcel ID:	2	415-0010-066	54						
			Leç	gal Description	on Details				
Plat Name:		LAKEWOOD	AKEWOOD						
See	ction	То	Township F		Range	Lot		Block	
:	22		51	51 13			-		-
Description:	Description: N1/2 OF S1/2 OF			SE1/4					
			Taxpayer D	etails					
		HELLESVIG J	JEFFERY A						
and Address: 5117 LAKEWO		DOD RD	D RD						
	I	DULUTH MN	55804						
				Owner De	tails				
Owner Name	ł	HELLESVIG J	EFFERY ALAN						
			Paya	able 2025 Tax	<b>Summary</b>				
		2025 - Ne	t Tax				\$0.00	)	
		2025 - Sp	ecial Assessme	al Assessments \$29.00					
		2025 - T	otal Tax &	Special Asse	ssments		\$29.00	<del>,</del>	
			Currer	nt Tax Due (a	s of 5/8/202	5)			
	Due May 15						Total Due		
2025 - 1st Ha	-	\$29.00				\$0.00	2025 - 1st Half Tax Due \$0.		
2025 - 1st Ha	air Tax Paid	\$29.00	2025 - 21	nd Half Tax Paid		\$0.00	2025 - 2	2nd Half Tax Due	\$0.00
2025 - 1st Ha	alf Due	\$0.00	2025 - 21	2025 - 2nd Half Due			2025 - 1	Total Due	\$0.00
				Parcel De	tails				
Property Addr	ess:	5117 LAKEW0	DOD RD, DULL	JTH MN					
School Distric	t: 7	709							
Tax Increment		-							
Property/Home	esteader:	HELLESVIG,							
				nt Details (20	-				
Class Code (Legend)	Homeste Status		Land EMV	Bldg EMV	Total EMV		Land MV	Def Bldg EMV	Net Tax Capacity
201	1 - Owner Home (100.00% total)	estead	\$94,900	\$183,400	\$278,300	4	60	\$0	-
	,	Total:	\$94,900	\$183,400	\$278,300		60	\$0	0
								1	



## **PROPERTY DETAILS REPORT**

St. Louis County, Minnesota



				1 I D.	4 - 11 -		
				Land De	etails		
Deed	led Acres:	10.00					
Wate	erfront:	-					
Wate	er Front Feet:	0.00					
Wate	er Code & Desc:	W - DRILLED WE	ELL				
Gas	Code & Desc:	-					
Sew	er Code & Desc:	S - ON-SITE SAN	NITARY SYSTE	EM			
Lot \	Vidth:	0.00					
Lot I	Depth:	0.00					
The https	dimensions shown are no ://apps.stlouiscountymn.	ot guaranteed to be so gov/webPlatsIframe/f	urvey quality. A rmPlatStatPop	dditional lot	information can be ere are any quest	e found at ions, please email PropertyTa	ax@stlouiscountymn.gov.
			Improvem	ent 1 Deta	ils (RESIDEN	CE)	
1	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	HOUSE	1986	1,10	)6	1,762	U Quality / 0 Ft <sup>2</sup>	SL - SPLT LEVEL
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	2	17	34	CANTILE	/ER
	BAS	1	16	26	416	BASEME	NT
	BAS	2	2	16	32	CANTILE	/ER
	BAS	2	24	26	624	BASEME	NT
	DK	1	6	12	72	POST ON GF	OUND
	DK	1	8	16	128	POST ON GF	
l	Bath Count	Bedroom Co	-	Room C		Fireplace Count	HVAC
	2.0 BATHS	2 BEDROOM		-	ount	•	CENTRAL, ELECTRIC
	2.0 8/1110					Ŭ	
		Veen Dedit	-		Details (AG)	Descussor ( Fisials	Otada Orada A Dasa
	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	GARAGE	1986	57	-	576	-	ATTACHED
	Segment	Story	Width	Length	Area	Foundati	-
	BAS	1	24	24	576	FOUNDAT	ION
		Ir	mprovemer	nt 3 Detail	s (ROADRUN	NER)	
L.	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	GARAGE	1986	1,29	96	1,296	-	DETACHED
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	36	36	1,296	FLOATING	SLAB
			Impro	vement 4	Details (ST)		
	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
S	FORAGE BUILDING	1995	120	D	120	-	-
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	10	12	120	POST ON GF	OUND
			Improvem	ent 5 Deta	ils (TRLR ST	OR)	
	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.
	FORAGE BUILDING	1975	32		320	-	-
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	1	8	40	320	POST ON GF	
	DAG	1	0		520	10010101	



## **PROPERTY DETAILS REPORT**



St. Louis County, Minnesota

		Improvem	ent 6 Details (T	RLR STOR)			
Improvement Type	e Year Buil	t Main Flo	oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> Base	ment Finish	Style C	ode & Desc.
STORAGE BUILDIN	NG 1975	16	i0 ·	160	-		-
Segmer	nt Sto	ry Width	Length	Area	Founda	ation	
BAS	1	8	8 20 160		POST ON G	GROUND	
		Improvem	ent 7 Details (M	IETAL CPT)			
Improvement Type	e Year Buil	t Main Flo	oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> Base	ment Finish	Style C	ode & Desc.
CAR PORT	2005	90	6	96	-		-
Segmer	nt Sto	ry Width	Length	Area	Founda	ation	
BAS	1	8	12	96	POST ON G	BROUND	
		Improvem	ent 8 Details (F	ABRIC CPT)			
Improvement Type	e Year Buil	t Main Flo	oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> Base	ment Finish	Style C	ode & Desc.
STORAGE BUILDIN	NG 2015	38	4 :	384	-		-
Segmer	nt Sto	ry Width	U		Founda		
BAS	1	12	32	384	POST ON G	BROUND	
		Improven	nent 9 Details (I	_OG SHED)			
Improvement Type	e Year Buil	t Main Flo	oor Ft <sup>2</sup> Gross	Area Ft <sup>2</sup> Base	ment Finish	Style C	ode & Desc.
STORAGE BUILDIN		80	0	80	-		-
Segmer			U		Foundation		
		0	8 10 80 POST ON GROUND				
BAS	1	0	10	00			
BAS	1			s County Auditor			J
BAS No Sales information							
		Sales Reported	to the St. Loui	s County Auditor			
		Sales Reported		s County Auditor		Def	
	tion reported.	Sales Reported	to the St. Loui	s County Auditor		Def Bldg EMV	Net Tax Capacity
No Sales informat	tion reported. Class Code	Sales Reported	to the St. Loui ssessment Hist Bldg	s County Auditor cory Total	Def Land	Bldg	
No Sales information	tion reported. Class Code (Legend)	Sales Reported	to the St. Loui ssessment Hist Bldg EMV	s County Auditor ory Total EMV	Def Land EMV	Bldg EMV	
No Sales informat Year 2024 Payable 2025	tion reported. Class Code (Legend) 201	Sales Reported	to the St. Loui ssessment Hist Bldg EMV \$180,700	s County Auditor	Def Land EMV \$0	Bidg EMV \$0	Capacity
No Sales informat	tion reported. Class Code (Legend) 201 Tota	Sales Reported	to the St. Loui ssessment Hist Bldg EMV \$180,700 \$180,700	s County Auditor ory Total EMV \$275,600 \$275,600	Def Land EMV \$0 <b>\$0</b>	Bidg EMV \$0 <b>\$0</b>	Capacity
No Sales informat Year 2024 Payable 2025 2023 Payable 2024	tion reported. Class Code (Legend) 201 Tota 201	Sales Reported	to the St. Loui ssessment Hist Bldg EMV \$180,700 \$180,700 \$179,100	s County Auditor cory Total EMV \$275,600 \$275,600 \$274,000	Def Land EMV \$0 <b>\$0</b> \$0	Bldg EMV \$0 \$0 \$0	Capacity - 0.00 -
No Sales informat Year 2024 Payable 2025	tion reported. Class Code (Legend) 201 Tota 201 Tota	Sales Reported	to the St. Loui ssessment Hist Bldg EMV \$180,700 \$180,700 \$179,100 \$179,100	s County Auditor ory Total EMV \$275,600 \$275,600 \$274,000 \$274,000	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0	Bldg EMV \$0 \$0 \$0 \$0	Capacity - 0.00 -
No Sales informat Year 2024 Payable 2025 2023 Payable 2024	tion reported. Class Code (Legend) 201 Tota 201 Tota 201	Sales Reported	to the St. Loui ssessment Hist Bldg EMV \$180,700 \$180,700 \$179,100 \$179,100 \$179,100	s County Auditor cory Total EMV \$275,600 \$275,600 \$274,000 \$274,000 \$269,700	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - -
No Sales informat Year 2024 Payable 2025 2023 Payable 2024	tion reported. Class Code (Legend) 201 Tota 201 Tota 201 Tota	Sales Reported	to the St. Loui ssessment Hist Bidg EMV \$180,700 \$180,700 \$179,100 \$179,100 \$179,100 \$179,100	s County Auditor cory Total EMV \$275,600 \$275,600 \$274,000 \$274,000 \$269,700 \$269,700	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - -
No Sales informat Year 2024 Payable 2025 2023 Payable 2024 2022 Payable 2023	tion reported. Class Code (Legend) 201 Tota 201 Tota 201 Tota 201	Sales Reported A: Land EMV \$94,900 \$94,900 \$94,900 \$94,900 \$99,600 \$90,600 \$50,500 \$50,500	to the St. Loui ssessment Hist Bldg EMV \$180,700 \$180,700 \$179,100 \$179,100 \$179,100 \$179,100 \$179,100 \$179,100	s County Auditor cory Total EMV \$275,600 \$275,600 \$274,000 \$274,000 \$274,000 \$269,700 \$269,700 \$269,700 \$227,500 \$227,500	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 1,197.00 -
No Sales informative version of the second s	tion reported. Class Code (Legend) 201 Tota 201 Tota 201 Tota 201 Tota	Sales Reported Land EMV \$94,900 \$94,900 \$94,900 \$94,900 \$99,600 \$90,600 \$90,600 \$50,500 \$50,500 \$50,500	to the St. Loui ssessment Hist Bldg EMV \$180,700 \$179,100 \$179,100 \$179,100 \$179,100 \$179,100 \$177,000 \$177,000 Tax Detail Histo Total Tax & Special	s County Auditor cory Total EMV \$275,600 \$275,600 \$274,000 \$274,000 \$269,700 \$269,700 \$269,700 \$227,500 \$227,500 \$227,500	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 1,197.00 - 775.00
No Sales informative of the second state of th	tion reported. Class Code (Legend) 201 Tota 201 Tota 201 Tota 201 Tota 201	Sales Reported Land EMV \$94,900 \$94,900 \$94,900 \$94,900 \$99,600 \$90,600 \$50,500 \$50,500 \$50,500 \$50,500 \$50,500	to the St. Loui ssessment Hist Bldg EMV \$180,700 \$180,700 \$179,100 \$179,100 \$179,100 \$179,100 \$179,100 \$177,000 \$177,000 Tax Detail Histo Total Tax & Special Assessments	s County Auditor ory Total EMV \$275,600 \$275,600 \$274,000 \$274,000 \$269,700 \$269,700 \$227,500 \$227,500 \$227,500 \$227,500 \$227,500 \$227,500	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity Capacity 0.00 0.00 1,197.00 775.00
No Sales informative version of the second s	tion reported. Class Code (Legend) 201 Tota 201 Tota 201 Tota 201 Tota	Sales Reported Land EMV \$94,900 \$94,900 \$94,900 \$94,900 \$99,600 \$90,600 \$90,600 \$50,500 \$50,500 \$50,500	to the St. Loui ssessment Hist Bldg EMV \$180,700 \$179,100 \$179,100 \$179,100 \$179,100 \$179,100 \$177,000 \$177,000 Tax Detail Histo Total Tax & Special	s County Auditor cory Total EMV \$275,600 \$275,600 \$274,000 \$274,000 \$269,700 \$269,700 \$269,700 \$227,500 \$227,500 \$227,500	Def Land EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Bidg EMV \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	Capacity - 0.00 - 0.00 - 1,197.00 - 775.00







Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.